1. a(2a-b) - (b-2a) & JA5E3|5HA?

@® (a-1)(2a-b) @ (a-1)(2a+b)
® (a+1)(2a+b) @)(a+1)(2a-0)
® a(2a-b)

a(2a—b) — (b—2a) = a(2a - b) + (2a - b)
=(2a-b)(a+1)




—

x—2y)(x -2y —4z) - 1272 o] AlF7F1
Bajd off, T A4 9] g2 F5HH?

D 2x-4y+4z @)2x — 4y — 4z

@ 2x+4y+4z ® dx-2y—4z

Q5 Ao Foz

® 2x-4y+3z

B

x—2y=A¢=sHH
A(A— 42) - 122 = A~ 4Az — 122
= (A-62)(A+22)

= (x—2y—62)(x -2y +22)
L (x-2y-62)+ (x—2y+27) =2x -4y — 42




3.

rot

(2x - 1)* = (x +2)* & ALESEHA (3x +a) (x + b) 7F Aok D
o m, a — b o] = F5HH?

® -1 @ 3 @0 @ 2 ©) I

B

2x—1=A, x+2 = BE X|3s}H
(2x-1)% - (x+2)?
=A%2-B>=(A+B)(A-B)
=(2x-1+x+2)(2x—1-x-2)
=Bx+1)(x-3)

La=1,b=-3
La-b=1+3=4




4. x2-94xy-3y & JAFEd5HA?

@ (x+3)(x+3+y) @ (x+3)(x+3-y)
® (x=3)(x=3-y) @) (x-3)(x+3+)
® (x+3)(x=3+y)

‘ (x+3)(x=3)+y(x-3) =(x-3)(x+3+y)




5. -2y - 14y AEest?

@(x—y—l-l)(x—y—l) @ (x+y+1)(x+y_1>
@ (x-—y+1)(x+y-1) @ (x—y-1D(x+y-1)

® (x+y+1)(x-—y-1)




® x*+1




D 80 @)100 ® 120 @ 140

® 160

1.23(552 — 452) = 1.23 x 100

~[_]=100




8.

x=-3+ Vb & ], x* 4+ 6x+9 O F& FoHH?

x24+6x+9=(x+3)2=(-3+V5+3)2=5




9.

x—y= V54 x2—2xy+y? +2x-2y-3 2| g7

@ 25 @ 45
@)2+2V5 ® 3+2+5

® 1+2+5

X% = 2xy+y*+2x-2y -3
=(x=y)?+2(x-y)-3
=(V5)?2+2x V5-3=2+25




10.

@ a+b+2 @ a-b+6
@a—i—b—i—G ® a-b+5

® a+b-6

B

a+b=ATt5H
A(A+1)-30=A42+A4-30
= (A+6)(A-5)
=(a+b+6)(a+b-5)

whakA Al2o] dole a+ b+ 6 oltt.




11 E}_Go]-/gl (a+b)2—(a+b)a_2a2_%q_—gg_/4
42 the ol n2w)
® (2a-10) @(b—a)
@(Qa—}—b) ® 2a

(x=2a)(x+a)
=(a+b-2a)(a+b+a)
(b—a)(2a+b)




a-3=AZR x%stH
A2-BA+6=(A-3)(A-2)
=(a-6)(a-5)




. x—xy? -y 4y o ATt opd A2?

@ y+1 @ y-1 @x+y @ x-y




14. H9352 d® 4 3a & 1 2 A @0t deEalishe Bgoltt. w=ohe
&9, O, @2 Az I A2?

1.

(a> +3a—-2)(a® +3a+4)-27
=(t-2)t+4)-21=2+2t-0
=(t+©)(t-©)

= (a® +3a+ ©)(a® + 3a-©)

@ 35,5,7 @ 27,7,5 ® 27,5,7

a’ +3a =12} 5t
(t—2)(e+4)-27

= +2-35

=({+T7)(t-5)

= (a® +3a+T7)(a* +3a-5)

et @ =35 O =7, © =5 °Jth




15. (x-y)(x-y+4) +4 5 AFENHH (ax + by + ¢)* E°] 237}

w2t oltf, a+ b+ c & F2?

@2 @ 4 ® 6 ® 11 ® 16

B

x-y=Aztstd
AA+4)+4=A%+4A+ 4
— (o)
= (x-y+2)°

wet a=1, b=-1, c=20|B2
a+b+c=1-1+2=2 0|t}




16.

(x=1)(x—3)(x - 5)(x = 7) + k 7} SHAAFAI0] FES A4 &

#H2?

@® 2 @ 4 ® 6

@ 11

5)16

94

B

(x=1D)(x-T)(x=3)(x—5)+k
=(x*-8x+T7)(x*-8x+15) +k
¥ -8x=A2 FOWH,
(A+T7)(A+15)+k

=A2 +22A + 105+ k = (A + 11)?
105+ k=112 =121

S k=16
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o
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@x4 - 5x3 — 20x% + 60x + 144
@ x* 4 5x° - 20x2 - 60x + 144
@ x* + 5x% + 20x% — 60x — 144
@ x* —5x3 4+ 20x% — 60x + 144

® x*+5x% —20x2 + 60x — 144

A8 0] 851 (x4 2)(x + 3)(x — 4)(x - 6) = AN

a7

B

(FA) = (x+2)(x-6)(x+3)(x-4)
=(x2-12-4x)(x2-12-x)

¥ -12=A & 2&s51H

(FA) = (A-4x)(A-x)
= A% — 5xA + 4x?
= (2 - 12)? - 5x(x% - 12) + 4x?
= x* = 5x3 — 2042 + 60x + 144




18.

ab—2a-2b+4 5 AFEGF AR &2

@D (a+2)(b-2)

@ (a-2)(b+2)
® (a+1)(b-2)

® (




19. =y’ x4 5y-6=A(x+y-3) & ol AF a7

O x+y+2 @ 3x-y+2 @ x-y+4
@X—)’+2 ® x-3y+2

B

2 —y?—x+5y-6
=x%—x—(y* ~ 5y +6)
=x*-x-(y-3)(y-2)
{x+ -3} {x- (-2}
=(x+y-3)(x-y+2)
LJA=x—-y+2




20. th A QSR TH?

2 —y? 4+ 8x+4y+12

O (x+y+3)(x—-y+4) @ (x+y+4)(x-y+3)
@ (x+y+2)(x+y+6) @ (x+y-2)(x-y-6)
@ +y+2(x-y+6)

22+ 8x—(y? —4y-12)
=x2+8x—(y+2)(y-6)
=(x+y+2)(x—y+6)




